
CLASS AND CLASS STRUCTURE

UNITED KINGDOM, GERMANY, FRANCE

-All 3 have large middle classes, and class divisions aren’t as prominent as Marx and earlier politicians expected. U.K. is the least economically equal than the others: why is this?

1. U.K.- 
a.  Economic inequality very strong, with large gap between the rich and poor.  Like U.S., the gap correlates with race, ethnicity, and immigrant status.
i. For example, in the USA, being poor is associated with being black or Latino
ii. For example, in the U.K., being poor is associated with being Pakistani, African, or from a working class family to start with
b. Large and poor urban populations

i. For example, on the south side of the Thames River “cockneys”
ii. Cockney English vs. Queen’s English
iii. Class evident in speech/dialect
c. Early industrialization- led to sharp class divisions- why was this?
d. Large middle class but also large working class (reflected in manner of speaking greatly)
e. Small upper class- economically/politically powerful
f. Top 1 percent controls less wealth than the U.S., but there are greater advantages in education/connections (in the U.S., the top 1% controls 42% of the wealth in the U.S.)
g.  20th Century- beginning of weakening of elite’s power:
i. Conservative (right-wing) party- began to represent working class (before only Labour [left-wing] party did that)
2. Germany- (After the 1950s ONLY in West Germany)
a. Large middle class and small upper class
b. Low levels of inequality and poverty
c.  Later industrialization- made equality easier
d. Generous welfare state, progressive taxation, strong unions
i. First country to develop government-endorsed social welfare programs and implemented it efficiently
e. Former East Germany not as equal, more economic problems
3. East Germany- (1949-1989)- Communist state
a. Distinctions between former East and West in terms of class structure
b. Privatization of state industries and equalization of wages led to massive deindustrialization and unemployment (similar to my hometown).  Business could not survive with higher wage costs
c. “Dichotomous class structure”- large working class and a small elite of Communist Party members
4. France- Peasants were crucial to the French Republican State, although Marx considered them a waste of time, as well as laborers/working class
a. By 19th century, divided between urban artisans (skilled workers) and unskilled workers
i. For example, skilled workers like watchmakers and bakers vs. unskilled workers like manual laborers
b. Despite recent increases in wealth concentration related to globalization, gap between rich and poor among lowest in the world:
i. This partially due to elites valuing prestige and status over financial gain (ended “private money” groups)
c. Government has worked hard to:
i.  Reallocate wealth
ii. Increase purchasing power
iii. Expand economic activity
iv. Expand opportunities for the working class
d. Strong bureaucracy
e. Powerful unions
f. Government subsidized 3-hour lunches and 35-hour workdays
g. Free university education
h. Universal healthcare
i. 5 weeks of paid vacation every year
j. Critics say it’s not good for innovation
RUSSIA, CHINA, AND INDIA

-Socialist approach to economic development for latter half of the 20th century, with small class divisions. Since capitalist economic development has increased, wealth has increased overall, but also increased general economic inequality 
1. Russia- 

a. 1970s-1980s- “Don’t speak out about being unhappy, and you won’t have to work hard, life won’t be wonderful but conditions will be ok/tolerable.”

i. Created large poor but livable lower class

ii. Communist party elite lived well

b. After the collapse of the Soviet Union, many people were hurt but not all:

i. Severe inflation- led to devaluation of live savings and pensions

ii. A new upper class emerged “novie russkiye” or “new Russians” who had power in the government

iii. There were very few entrepreneurs, mostly those with political “connections” or involved in organized crime (their advantage increased after privatization)

iv. During former president Boris Yeltzin- small  number of people dominated economics/politics- “oligarchic capitalism”(government by a few, especially by families, controlled economically by capitalism)

c. Late 1990s/early 2000s- emergence of small middle class, especially in larger cities and among younger people, but older/rural people stayed poor

i. Vladimir Putin limited economic/political power of “oligarchs” (Dmitry Medvedev as prime minister)

2. China- dramatic increase in economic inequality with premarket/capitalist economic reforms (greater than any time since establishment of Communist Party rule in 1949)

a. Division in class between rural and urban areas is large

i. Rural income stagnated in mid-1990s

ii. More than half of the population of China lives in the country (rural areas) and is neglected by the government

b. Middle class is growing as a result of capitalist development- especially in the cities (7 percent and growing FAST)

c. Hong Kong (rejoined China in 1997)- brought many middle class residents, who mostly favor democracy

d. Au Chen (political scientist)- said Chinese middle class is “used to political submission” and doesn’t have economic autonomy that can give them political power

i. Middle class gets power and wealth through links to corrupt government officials

3. India- Class structure resembles Russia and China (liberal/capitalistic unplanned economies).  Similarly, as liberalization/capitalism has increased, so has inequality.

a. Former caste system- economic hierarchy based on historical Hindu-based castes and tribes:
i. “Backward classes (e.g. the “Untouchables” in India) were helped by affirmative action- when underprivileged people are given advantages due to their status
b. Growing disparity (gap) in income between the richest and the poorest. 

c. Much of the population is lower class- 300 million- tend to live in rural areas. Stark (severe) contrast to middle class.

i. Farmer suicide is common due to high debt

d. Yet, solutions to hardships and disparity can be addressed (they are trying to address it)
e. Poor more likely to vote than the rich (this is rare compared to many other countries)

f. Very affluent business people among richest in world, as well as key politicians and bureaucrats

g. Economy has grown recently, leading to growing middle class (300 million):

i. Ignore the extreme poor- could lead to future political struggles

MEXICO, BRAZIL, NIGERIA, AND IRAN

-Class structure of these countries have a pattern of less developed countries: large working and underclass (all but Nigeria also do have significant middle classes)
4. Mexico- Has the most visible middle class especially in industrial north (around 25 percent)

a. Middle class used to be politically passive and tolerated corruption to keep their lifestyle, but:

i. In 2004, 500,000 mostly middle class people in Mexico City protested corruption and ineffective law enforcement due to increase in crime (why not in Venezuela? Hello?)

b. Still a division between small number of rich and large number of working/underclass

c. Extreme poverty- 20 percent- live in city peripheral “shantytowns”

d. Improvements in inequality and economic growth needed

5. Brazil- Economic inequality severe even compared to developing countries

a. Poorest 10% has less than 1 percent of the income, while richest 10% has 45 percent of the income

b. 30% live below poverty line

c. Among 5 most unequal countries on earth- mostly as a result of colonialism and history of slavery (skin color associated with wealth like in the USA)

d. Poverty is perpetuated (poor have less opportunities for education, health care, etc.)

e. Yet, middle class growing due to growth of industrial and service sector (around 30%)

f. Like other developing countries, 40% may work in the “informal sector” (like Venezuela):

i. Dangerous conditions

ii. No health care or pension

iii. No stable income and it’s usually low

iv. No workers’ rights or unions

1. Worker’s unions: protect workers’ rights against unfair practices on the part of owners.  All workers that belong to a union have rights.

g. Surprisingly, class has not shaped voter choices in Brazil

6. Nigeria- Extreme inequality!

a. Middle class- less than 5%

b. Vast majority is working/underclass with extreme poverty including lack of food access

c. Incredible poverty considering the oil wealth the country has (sound familiar?)
d. Unlike other DCs, class is not correlated with where you live (urban vs. rural areas)

e. Recent economic growth has not benefited the poor:

i. Government corruption and high birth rate compounds this
7. Iran- Prosperity of 1960s and 70s brought industrialization and a middle class, even with government bureaucracy under the “shah”

a. By middle of 1970s economic bubble “burst:”

i. Regular Iranians weren’t getting the wealth “trickled down

ii. (“Trickle Down Economics:” introduced by US president Ronald Reagan)

iii. This led to Islamic Revolution (1979, strict religious theocracy)- intended to transfer prosperity to the masses

a. Since 1979, middle class expansion has decreased/been stopped, and lower class abundant esp. in rural areas, but:

i. Middle class larger in larger cities

ii. They support religious/economic reform, especially the young/educated/middle class in Tehran:

1. Former reformist president Mohammed Khatami had much of the middle class support

b. Current president Mahmoud Ahmadinejad (elected 2005) appealed to working and underclass (strong class consciousness- why is this?)

